PDF Compressor Free Version

Boden

HIGH PRESSURE GEAR PUMP

BHP2.6

HOW TO ORDER
BA H P H 26 |{Frontcover H Rotation [ Size | Shat H Pots  HPorisposton 1 Seals | Options
| | T T T T
Series P-Pump ||  Group B D | Clockuise E
Counter 10
BA-Front and Al 5 U
end cover clockwise 12
material 1 14
aluminum R | Reverstie m
19
. . 22
BH-Front and o5
end cover material %
cast iron,
pressure than 30
"BA’series high »
30 bar. %
38
40
44
Ports position

Omit-Side inlet and side outlet
A-Front inlet and front outlet
B-Back inlet and front outlet
C-Backinlet and side outiet
D-Side inlet and front outlet
R-Back inlet and back outlet

Seals

Omit-Range between -10°C and +80'C,inlet pressure up to max, 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10°C and +120T.
H-Version suitable for fuid at low-temperatures, range between ~40°C and +80C.
T-Version stitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

$5l/ Examples:

BHP2.6-B0-D-10-TO-E1=  clockwise rotation, 10 celrev, BO front cover,1:8 tapered shaft(T0), setting ports E1 type, standard seals
BHP2.6-A1-D-10-C1-F0 = clockwise rotation, 10 cofrev, A1 front cover, C1 parallel shaft, setting ports FO type, standard seals

BHP2 6-A2-D-10-83-U0-N= clockwise rotation, 10 cc/rev, A2 front cover, SAE B splined 13T shaft{ S3), setting ports UQ type, high pressure seals{N)



PDF Compressor Free Version

EG?PdR?JS‘URE GEAR PUMP
BAP2.6B0
To mount the pump, n.4 M10 screws,
% with a torque wrench setting fixed
¥ at 130...135 N,
il Shaft M14x1.5 nut,with a torque
;,',' wrench setting fixed at 75 Nm.
B
OUTLET INLET
120 M a7
98 i 3 14
11n4 135
W\ : 1
F\ & 2
ERIE77Z\\
= I'\&) VN
=] B =
| k3
O\_/O Mi4x1 5
@;_@ D 18
B
Type Displacement Max pressure Max. speed Min. speed Dimensions
. P P2 P3 _ TS o T T
ey bar bar | bar {rfmin) {rfmin) mn omm omm omm ommomm
BHP2.680-D-6 6 250 280 300 4000 800 103 | 493 13 [ me |30 [13]M
BHP2.680-D-8 8 250 280 300 4000 800 105 503 [ 30 | 13 [ M6 | 30 | 13 | M6
BHP2.680-D-10 10 250 280 300 4000 700 107|613 |40 | 20 | M8 |30 [ 13 | Ms
BHP2.6B0-D-12 12 250 280 300 3500 700 110 [525 | 40 | 20 [ M8 | 30 | 13 | M6
BHP2.6B0-D-14 14 250 280 300 3500 600 1111533 |40 | 20 | M8 [ 30 [ 13 | M6
BHP2.6B0-D-16 16 250 280 300 3500 600 114 545 [ 40 | 20 [ M8 | 30 | 13 | M6
BHP2,6B0-D-18 19 250 280 300 3000 500 117 | 563 | 40 [ 20 | M8 | 30 | 13 | M6
BHP2 6B0-D-22 2 250 280 300 3000 500 121 |880 | 51 | 25 |Mio| 40 [ 18 | M8
BHP2.6B0-D-25 2% 250 280 300 3000 500 123 |593 | 51 | 25 |mio| 40 [ 18 | M8
BHP2 6B0-D-28 28 250 280 300 3000 500 126 |608 | 51 | 25 |mio| 40 [ 18 | M8
BHP2 6B0-D-30 30 230 250 260 3000 500 129 |620 | 51 [ 25 |Mio| 40 | 18 | M8
BHP2,6B0-D-32 2 230 250 260 3000 400 131|633 | 51 | 25 |mio| 40 [ 18 | M8
BHP2.680-D-36 3% 200 230 250 2750 400 135 |653 | 51 [ 25 |Mi0| 40 | 18 | M8
BHP2.6B0-D-38 8 200 230 250 2750 400 137 [663 | 51 | 25 [m10| 40 | 18 | w8
BHP2.680-D-40 40 170 190 210 2500 400 139 |673 | &1 [ 25 |Mi0| 40 | 18 | MB
BHP2.680-D~44 4 170 190 210 2500 400 144 1695 | 61 | 25 |mio| 40 [ 18 | M8




PDF Compressor Free Version

HIGH PRESSURE GEAR PUMP
BHP2.6A1
o G 1 thread depth 19,

G 3/4 thread depth 16,

G 1/2 thread depth 15,

To mount the pump, n.4 M12 screws,

with a torque wrench setting fixed

at 130...135 Nm.

OUTLET INLET
130 M »
6.2 106.4 L
135
- - N Y
N N/ | &
|| || =
d D
Type Displacement Max pressure Max. speed Min. speed Dimensions

BHP26A1-D-6 8 250 280 300 800 103 | 493 G34 G2
BHP2.6A1-D-8 8 250 280 300 800 105 | 503 G 34 G12
BHP2.641-D-10 10 250 280 300 700 107 | 513 G a4 G2
BHP2.6A1-D-12 12 250 280 300 700 110 | 525 Ga4 G112
BHP2 6A1-D-14 14 250 260 300 600 " | 533 G314 G1f2
BHP2.6A1-D-16 16 250 280 300 600 114 | 545 G3 G112
BHP2.6A1-D-19 19 250 280 300 3000 500 17 | %3 G 34 G1f2
BHP2.641-D-22 2 250 280 300 3000 500 121 | 580 GaM G1/2
BHP2.6A1-D-25 % 250 280 300 3000 500 123 | 593 G1 G 34
BHP2.641-D-28 28 250 280 300 3000 500 126 | 608 G1 634
BHP2.6A1-D-30 30 230 250 260 3000 500 129 | 620 G1 G314
BHP2.6A1-D-32 ) 230 250 260 3000 400 130 | 633 G1 G4
BHP2 6A1-D-36 % 200 230 250 2750 400 135 | 6.3 G1 G
BHP2.6A1-D-38 8 200 230 250 | 2750 400 137 | 663 G1 G a4
BHP2 6A1-0-40 40 170 190 210 2500 400 139 | 673 Gi G a4
BHP2.6A1-D-44 44 170 190 210 2500 400 144 | 695 G1 G




PDF Compressor Free Version

HIGH PRESSURE GEAR PUMP
BHP2.6A2
*D" and "d" ports are machined in
compliance with threaded port with
O-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).
To mount the pump, n.4 M12 screws,
with a torque wrench setting fixed
at 130...135 Nm.
OUTLET INLET
174 M 41
146 L
95 14302 135
/ \ L
— L F (] ﬁ ) )
= Fan) {’_}? R
N S - _
= .
d 103 D
DP16/32-30° 137
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2 6A2-D-6 6 250 280 300 4000 800 103 | 493 |11A6-12UNF | 7/8-14UNF
BHP2.6A2-D-8 8 250 280 300 4000 800 105 | 503 |1 116-12UNF | 7/8-14UNF
BHP2 642-D-10 10 250 280 300 4000 700 107 | 513 |1 146-12UNF | 7/8-14UNF
BHP2.6A2-D-12 12 250 280 300 3500 700 10 | 525 |1 1A6-12UNF | 7/8-14UNF
BHP2.642-D-14 14 250 280 300 3500 600 111 | 533 [1116-12UNF | 7/8-14UNF
BHP2.6A2-D-16 16 250 280 300 3500 600 114 | 545 |11/46-12UNF | 7/8-14UNF
BHP2.642-D-19 19 250 280 300 3000 500 17 | 563 [1146-12UNF | 7/8-14UNF
BHP2.6A2-D-22 22 250 280 300 3000 ' 500 121 | 580 |1 116-12UNF [ 7/B-14UNF
BHP2,642-D-25 2% 250 280 300 3000 500 123 | 59.3 [15/16-12UNF |1 1/16-12UNF
BHP2,6A2-D-28 28 250 280 300 3000 500 126 | 608 |15M6-12UNF |1 1/16-12UNF
BHP2.6A2-D-30 30 230 250 260 3000 500 120 | 620 |15/6-12UNF |1 1/16-12UNF
BHP2.6A2-D-32 32 20 250 260 3000 400 13t | 633 |1516-12UNF  [11/16-12UNF
BHP2.642-D-36 3% 200 230 250 2750 400 185 | 653 [15/6-12UNF |1 1/16-12UNF
BHP26A2-D-38 38 200 230 250 2750 400 137 | 663 [156/46-12UNF |1 1/6-12UNF
BHP2 642-D-40 40 170 190 210 2500 400 139 | 673 [15M46-12UNF |1 1/16-12UNF
BHP2.6A2-D-44 4 170 190 200 2500 400 144 | 695 [15M6-12UNF |1 1/16-12UNF




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BHP2.6A2-R
"D"and "d" ports are machined in
compliance with threaded port with
O-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).
To mount the pump, n.4 M12 screws,
with a torque wrench setting fixed
at130..135 Nm.
OUTLET INLET
174 4 ]
146 135
95 25 30 24
— |
- A A ,\*:R\ N T ﬁ%
ﬂ é g () = NI
L — - ! B
¥
DP16/32-30° 13T d 2
Type Displacement Max pressure Max. speed Min. speed Dimensions
: bar. {rimin) mm
BHP2.6A2-D-6-R 6 250 280 300 4000 800 118 11116-12UNF T/8-14UNF
BHP2.6A2-D-8 -R 8 250 280 300 4000 800 120 11/16-12UNF TI8-14UNF
BHP2.6A2-D-10 -R 10 250 280 300 4000 700 122 11/16-12UNF 7/8-14UNF
BHP2:6A2-D-12 -R 12 250 280 M 3500 700 125 11/16-12UNF T/8-14UNF
BHP2.6A2-D-14 -R 14 250 280 300 3500 600 126 1116-12UNF 7/8-14UNF
BHP26A2-D-16 -R 16 250 280 300 3500 600 129 11/16-12UNF 7/8-14UNF
BHP2.6A2-D-19 -R 19 250 280 300 3000 500 132 1 116-12UNF 7/8-14UNF
BHP26A2-D-22 -R 2 250 280 300 3000 500 136 11/16-12UNF T8-14UNF
BHP2.6A2-D-25 -R i 250 280 300 3000 500 138 1116-12UNF 7/8-14UNF
BHP2:6A2-D-28 -R 2 250 280 300 3000 500 141 11/16-12UNF 7/8-14UNF
BHP2.6A2-D-30 -R 30 230 250 260 3000 500 144 11/16-12UNF 7/8-14UNF
BHP26A2-D-32 -R R 230 250 260 3000 400 148 1116-12UNF 7/8-14UNF
BHP2.6A2-D-38 -R 3% 200 230 250 2750 400 150 11116-12UNF 7/8-14UNF
BHP26A2-D-38 R 3 200 230 250 2750 400 152 | 1116-12UNF | 7IB-14UNF
BHP2.6A2-D-40 -R 40 170 180 210 2500 400 154 11116-12UNF 7/8-14UNF
BHP2.6A2-D-44 -R “ 170 190 210 2500 400 159 11116-12UNF T/8-14UNF




PDF Compressor Free Version
Boden

HIGH PRESSURE GEAR PUMP

BHP2.6

FRONT COVER SHAFTS
47
14
= []
Y I
lJ | & E
5 =
S =18 =
-+ <7 4
Max.Torque 300 Nm
45 2 45
28 L 2 25
i | il
\ | M
B | L
o | |
= I 1 I
g s| & b= F g s
= 478 L 4-18x15%
Al 0
Max.Torque 180 Nm Max.Torque 190 Nm Max.Torque 200 Nm
415 39 39
25 B 8|
I | |
g !
I ' “ i :I -
g o E p =
L 6-20x16x4 EXT12Z-15m-30° DP16/32-30° 10T
- 0] [ S

Max.Torque 240 Nm

Max.Torque 220 Nm

Max.Torque 200 Nm

34

23

N
I
=
DP16/32-30" -11T

Max.Torque 210 Nm

_1__
@218

DP18/32-30° -13T

Max.Torque 300 Nm




PDF Compressor Free Version
Boden

HIGH PRESSURE GEAR PUMP

BHP2.6

FRONT COVER SHAFTS
# - #
= =
|| = : |
|
5 2 | | I
= | |] 2 | | | 2
¢ §E
DP16/32-30° 13T 635

Max.Torque 400 Nm Max.Torque 350 Nm




PDF Compressor Free Version
Boden
HIGH PRESSURE GEAR PUMP
BHP2.6
PORTS
7O
= i TYPE PORTS CODE INLET OUTLET
= ’
= BHP26..6 + BHP26..8 E0 30 13 M6 30 13 M6
n4cl) / BHP26..10+BHP26..19 Bl o | 20 | mw | 0 | 13| M
EO/E1/E2 BHP2.6..22 + BHP26..44 E2 51 25 Mi0 40 18 M8
M)
.\
gl 5 > |
1 \1/ & TYPE PORTS CODE INLET OUTLET
040 X e A (e | 0 1
BHP2.5..6 + BHP26...16 F0 476 (222 | MIO15 |20 |476 |222 | M10x15 13
FOFF1 BHP26..19 + BHP26. 44 Pt |s4fos2 | mioxs |25 [476 [222 | miots |20
? <
2| 8
nd C(c) - :
BHP2.6..6 + BHP25..16 55 20 M8 55 13 M8
BHP26..19:BHP26, 44 EHEEENERERE
PORTS CODE INLET OUTLET

Ala)

TYPE
20 M22x1.5 Mi8x1.5

BHP26..6+BHP26..14
BHP2.6..16+ BHP26..19 z W72 Mo2xt 5
BHP26..22 + BHP26..44 Z2 M33x2 M27x2




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BHP2.6
PORTS
TYPE PORTS CODE INLET QUTLET

BHP26..6: BHP26..22 uo 11/16-12 UNF 7/8-14 UNF

=
as

BHP26.25:BHP26.44 Ut | 15/46-12UNF 11/16-12 UNF
=
B TYPE PORTS CODE INLET OUTLET
BHP26..62BHP26..22 L0 634 Gif2
LO/L1 BHP26.25:BHP26.44 U _. G 634
- @ TYPE PORTS CODE INLET OUTLET

BHP256..10 - BHP26..22 RO PT3/4 PTH2
RO/R1 BHP2.6..25 + BHP26..44 Ri PT1 PT34




